ISO9001:2015 CE€

TADN Series

Guide Cylinder

i Features

1. TADN series compact cylinder accord with [SO21287 standard.

2. TADN series cylinder with compact structure, derived lots of variety types, and wide range of applications.
3. Both end use rubber gasket to absorb the remaining energy of the high speed movement and the machine cycle.

4. Every ammsebly way has large number of accessories, so it is very simple. |
5. There are two reverse bar positioning on each side to enhance the load capacity for smoother operation. |

ﬂOrdering Code

“lﬂ__
——

| T E—T—

TADN : Double
acting type guide 25 d

32 S: With magnet ——————

40 % loroo e

50 for other length

63

80

100

i Specification

Bore (mm)
Operation Double Acting
Working Medium Air
Standard Stroke 5~100mm
Operating Pressure Range 0.1~1.0MPa
Proof Pressure 1.5MPa
Operating Temperature Range -20~80°C
Operating Speed Range 30 ~ 500mm/s
Port Size G1/8

Cylinder
Calculation
st

SIA.
e
sQ
DNT
SC/su
SCT
SCA.
SL

DN
DSN
DN/DSNA.
MA
MAC
MAMACA.
MAL
MALC
MAMACLA
SDA
cQ2
TCQ2
ADN
PPRM
MHLZ
Prieumatic
Fingers
cp

Cl2
cou
™

CXS
MGP
MSQ



®! TADN Series

Cylinder
Calculation
SI

SIA.
SIB

SQ
DNT
SC/SsuU
SCT
SCA.
SL

DN
DSN
DN/DSNA.
MA
MAC
MA/MACA.
MAL
MALC
MAL/MACLA.
SDA
cQ2
TCQ2
ADN
PPRM
MHL2

Pneumatic
Fingers

MXH/MXQ
ap

a2
cpu
™

xS
MGP
MSQ

2-1P93

Guide Cylinder

iInternaI Structure

)

"
=
=
u

ISO9001:2015 Ce

JELPC’

/
b :
WL B+Strake

iOveraII Dimension

TADN Series

Guide Cylinder

A+Stroke
o
I e D D | AN
] E&/}
O— —
%@\____ ~ 1
1 LU
1= | J{xﬁ.
axp %/
G G
iparts W L B+Stroke
A+Stroke
Number Name ’ Number Name
1 Fixed plate 11 Cring
2 Socket head screw 12 Anti-friction seal
3 Guide rod 13 Oring . X
iDlmenS|on
4 Piston rod 14 Cover screw
5 Dust ring 15 Small gasket With magnet
6 Copper tube 16 Hexagon nut
7 Front cover 17 Piston 20 5-100 51 37 M5X0.8 36 22 M4X0.7 4732 | 17+0.02 6 8
3 Bearing 18 Magnet 25 5-100 53 | 39 M5X0.8 40 | 26 | M5X0.8 5% | 22¢002 | 6 8
R 32 5-100 61 44 G1/8 | PT1/8 | NPT1/8 | 475 | 325 M5X0.8 592 | 28+0.02 7 10
9 Anti-collision gasket 19 Back cover
40 5-100 62 45 G1/8 | PT1/8 | NPTL1/8 55 38 M5X0.8 5'9% | 33%0.02 7 10
10 Oring 2 Barrel 50 5-100 65 | 45 | G1/8 | PTL/8 | NPTL/8 | 66 | 465 | Mex10 | 6792 | 42002 | 8 | 12
63 5-100 69 49 G1/8 | PT1/8 | NPT1/8 | 783 | 56.5 | M6X1.0 697 | 50+0.02 8 12
80 5-100 78 54 G1/8 PT1/8 | NPT1/8 9 72 M8X1.25 892 | 65+0.02 10 14
100 5-100 91 67 G1/8 PT1/8 | NPT1/8 116 89 M10X1.5 10737 | 80+0.02 10 14

Cylinder
Calculation
SI
SIA.
SIB

SQ

DNT
SC/sU
SCT
SCA
SL

DN

DSN
DNDSNA
MA

MAC
MAMACA
MAL
MALC
WAMALA
SDA

Q2

TCQ2
ADN
PPRM
MHL2

Pneumatic
Fingers

MXH/MXQ
ap
2
cou
N
cxs
MGP
MSQ

2-|P94



